SSC CGL Tier 1 Practice Quiz

Section 1: General Intelligence & Reasoning

Q1. Which number will come next in the series?
2,6,12,20,307

a) 42

b) 40

c) 36

d) 38

Q2.If Ais the son of B and B is the brother of C, how is A related to C?
a) Nephew

b) Brother

c) Son

d) Cousin

Section 2: General Awareness

Q3. Who is the first Indian to win a Nobel Prize?
a) Rabindranath Tagore

b) C.V. Raman

c) Mother Teresa

d) Amartya Sen



Q4. The term ‘Bull’ and ‘Bear’ are used in which sector?
a) Banking

b) Stock Market

c) Agriculture

d) Manufacturing

Section 3: Quantitative Aptitude

Q5. What will be the simple interest on 5000 for 2 years at 6% per annum?
a) 3600
b) X550
c) X620

d) 3650

Q6. A train running at 60 km/h crosses a pole in 9 seconds. What is the length
of the train?

a) 150 m
b) 120 m
c)135m

d) 180 m

Section 4: English Comprehension

Q7. Select the correctly spelled word:

a) Neccessary



b) Necessary
c) Neccesary

d) Necessary

Q8. Choose the correct synonym of the word “Abandon”:
a) Desert
b) Attack
c) Create

d) Follow

Answer Key

Q.No Answer

1 a) 42

2 a) Nephew

3 a) Rabindranath Tagore
4 b) Stock Market

5 a) X600

6 b) 150 m

7 b) Necessary

8 a) Desert




SSC CGL Tier 2 Practice Quiz




Maths Section

Q1. If the sum of the first 50 odd numbers is x x, what is the value of x x?
a) 2500
b) 2550
c) 2600
d) 2700

Q2. The ratio of the ages of Ram and Shyam is 4:5. If Ram’s age is 28 years,
what is Shyam’s age?

a) 35 years

b) 36 years

c) 40 years

d) 45 years

Reasoning Section

Q3. If in a certain code, "FIRE" is written as "GFSL," how is "WIND" written
in the same code?

a) XJOF

b) XJPG

c) YJOF

d) YIJPG

Q4. Which of the following is the odd one out?
a) Apple

b) Banana

c) Mango

d) Carrot

General Awareness Section



Q5. Who was the first Governor-General of independent India?
a) Jawaharlal Nehru

b) Lord Mountbatten

c) C. Rajagopalachari

d) Mahatma Gandhi

Q6. The currency of Japan is known as:
a) Yen

b) Won

c) Dollar

d) Peso

English Comprehension Section

Q7. Choose the synonym of the word "Incredible":
a) Amazing

b) Terrible

c) Ordinary

d) Boring

Q8. Choose the correct form of the verb: "She to the store
yesterday."

a) Go

b) Gone

c) Went

d) Going

Answer Key

Q.No(|Answer Explanation

The sum of the first nnn odd numbers is n2n”*2n2. So,

1 |b) 2550 502=250050%2 = 2500502=2500.




Q.No(|Answer Explanation

1 b) 2550 The sum of the first nnn odd numbers is n2n”2n2. So,
502=250050"2 = 2500502=2500.

3 2) XJOF The pattern is that each letter shifts one position forward in the
alphabet.

4 d) Carrot Apple, Banana, and Mango are fruits, whereas Carrot is a
vegetable.

5 b) Lord Lord Mountbatten was the last British Governor-General of India

Mountbatten and the first after independence.

6 a) Yen The currency of Japan is the Yen.

7 a) Amazing "Incredible" means something that is extraordinary or amazing.

8 c) Went The correct past tense form of "go" is went.
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